



# TOWN MUNICIPAL CORPORATION MOMINABAD KARACHI WEST

No: EE/B&R/TMC/M/25/2025

DATE: 24.02.2026

## NOTICE INVITING TENDERS

(Through EPADS)

Tenders in sealed covers are invited for the following work (s) through EPADS Webdite SPPRA Rules 2010 (Amended 2019) from the firms having adequate experience in the relevant field. The tentative cost of work is under Rs. 3.0 Million.

S.NO	Name OF Work	Estimate Amount	Cost of Tenders
1	Hiring of Machinery & Labour for cleaning of Nallah Near Qalandariya Hotel & Other area TMC Mominabad District West	1998946	2000/-

1- Tenders Schedule Shall be as follows.

SCHEDULE	DATE & TIME	VENUE
Receiving of Application & Issuance of Tenders	<u>25/02/2026 to 11/03/2026</u> During Office Hours	Office of the Executive Engineer B&R TMC (Mominabad) Sector 11-E Shahrah-e-Orangi Karachi (West)
Dropping of Tenders	<u>11/03/2026</u> 12:00 P.M	Office of the Executive Engineer B&R TMC (Mominabad) Sector 11-E Shahrah-e-Orangi Karachi (West)
Opening of Tenders	<u>11/03/2026</u> 12:30 P.M	Office of the Executive Engineer B&R TMC (Mominabad) Sector 11-E Shahrah-e-Orangi Karachi (West)

2- in case of any reason, if the Tenders are not responded on the above dates the next date of submission and opening will be and the Tenders documents will also be available up to

3- The Tenders documents will be issued to the firms on submission of application in their original letter head along with Pay Order of Tenders Cost in favor of TMC, Mominabad as mentioned above.

4- The Bid Security as mentioned above in shape of pay order in favor of TMC, Mominabad shall must be enclosed with tender documents without which the tender will be treated as cancelled.

5- The contractor must mention their complete and correct present postal address in Tenders documents & quote the rates both in words & in figures. Incomplete / Conditional Tenders will be not accepted. In addition, the bidders must furnish the documentary evidence against each eligibility criteria (as mentioned above) as well as minimum qualification criteria as

6- The successful bidder will furnish a performance guarantee at the time of agreement in shape of Pay Order equal to 2% of sanctioned cost. This guarantee will be released after completion of work.

7- An amount equal to 02% of Contractual Value will be deducted as Retention Money, as per condition of contract which will be released after successful expiry of maintenance period.

8- The Tenders documents can be had from the office as mentioned above on any working day during office hours except the date of opening.

9- All the Tenders shall be dropped on as per above Schedule up to 12:00 P.M and will be opened by the Tenders Opening Committee in the office of Executive Engineer TMC (Mominabad) Karachi at 12:30 P.M in presence of the contractor who wish to be present.

10- In case the date of sale / dropping / opening declared as a public holiday by the Government, or non-working day due to any reason the next official working day shall be deemed to be the date for sale submission and opening of Tenders at the same time.

11- The bidder shall attach all evidence in compliance of the Eligibility & Minimum Criteria already mentioned in the bidding documents.

12- The Procuring agency may reject all or any bids or proposals at any time prior to the acceptance of a bid or proposal, subject to the relevant provision of SPPRA Rule 2010.

13- Canvassing in connection with Tenders is strictly prohibited and tenders submitted by the contractors who report canvassing will liable for rejection.

14- Tenders will not be received after the schedule time.

15- Eligibility

- 1 NTN Certificate
- 2 Valid Professional Tax
- 3 S.R.B Certificate
- 4 Bank Statement
- 5 Relevant Experience
- 6 Turn Over of at least three years

**EXECUTIVE ENGINEER (B&R)  
TMC (Mominabad)**

**Copy to: -**

1. **The Municipal Commisiioner TMC Mominabad WEST**
2. **Office File.**

**EXECUTIVE ENGINEER (B&R)  
TMC (Mominabad)**



**TOWN MUNICIPAL CORPORATION MOMINABAD**  
**DISTRICT WEST KARACHI**

---

**BIDDING DATA**  
**Work NO:01**

- a) Name of Procuring Agency Town Municipal Corporation Mominabad Karachi
- b) Brief Description of Works **Hiring of Machinery & Labour for cleaning of Nallah  
Near Qalandariya Hotel & Other area TMC Mominabad  
District West**
- c) Procuring Agency's address: Sector 11-E Shakra-e-Orangi Town .
- d) Estimated Cost: 1998946
- b) Amount of Bid Security: S.D .
- c) Period of Bid Validity (days): 15 days .
- d) Percentage, if any, to be deducted from bills: 11 % Income Tax + S,R,B
- e) Deadlines for Submission of Bids along with time: 11-03-2026 at 12:00 pm .
- a) Venue, Time and Date of Bid Opening: Office of the Executive Engineer (B&R)  
TMC Mominabad Karachi at Sector Shara-e- Orangi,Orangi  
Orangi Town Karachi at 12:30 P.M On :11-03-2026 .
- a) Time for Completion from written order of commence: 45 days .
- b) Liquidity damages: -Rs:1000/- Per Day .  
(0.05 of Estimated Cost or Bid Cost per day of delay, but total not exceeding 10%)
- c) Quotation Cost : \_\_\_\_\_ Dated: \_\_\_\_\_
- d) Bidding Documents issued to: M/S: \_\_\_\_\_ .

CONTRACTOR

  
EXECUTIVE ENGINEER (B&R)  
TMC MOMINABAD

**SCHEDULE OF QUANTITIES**  
WorkNo : 01

**TOWN MUNICIPAL CORPORATION MOMINABAD**  
**DISTRICT WEST KARACHI**

Estimate Amount	1998946
TIME LIMIT:	45 Days
Penalty Per Day:	1000/-

**SUBJECT: Hiring of Machinery & Labour for cleaning of Nallah Near Qalandariya Hotel & Other area TMC Mominabad District West**

S.No	Description Of Work	Qty	Rate	%	Amount
1	Hiring of Excavation for Deslting and cleaning of Nallah long boom i/c POL (for 8 hours per day)	80 Hours	6500.00	P.Hours	520000
2	Hiring seal Dumpers Hino for Lifting of Garbage & Situ of nallah i/c loading & Unloading in all respect with POL. (for 8 Hour per Day).	72 Hours	5945.00	P.Hours	428040
3	Hiring of Tractor Blade heavy Duty for Cleaning of Garbage , Street or Road side earth etc with POL (For 8 Hours Per Day)	48 Hour	3500.00	P.Hours	168000
4	Hiring of Tractor Trolley heavy Duty for Cleaning of Garbage, Streer or Road side earth i/c Loading Unloading complete With Pol (For 8 Hours Per Day).	56 Trip	1800.00	P.Trip	100800
5	Hiring of Loader for Lifting of Garbage & silt etc with POL . (For 8 Hours Per Day).	48 Hours	8227.20	P.Hours	394906
6	Hiring of Private Labour for Cleaning of Nallah.	176 Nos	2200.00	Each	387200



**EXECUTIVE ENGINEER**  
**TMC MOMINABAD**

I/We hereby quoted Rates @ \_\_\_\_\_ % above/below the S/R

The total amount is Rs: \_\_\_\_\_

M/S: \_\_\_\_\_

Payorder No. \_\_\_\_\_ Dated: \_\_\_\_\_ Amount: \_\_\_\_\_

I/We Hereby Quoted Rate @ \_\_\_\_\_ % Above / Below

The Total Amount Comes to Rs. \_\_\_\_\_

Contractor Signature: \_\_\_\_\_

Adress: \_\_\_\_\_